A9S 5 EAALT RAT WA E 1085 2R S 1S Y H8R"F 4" TR dw
MR
b i E Rl % #il % 2 R § &2
| s B iR
10| @ E i B ¥ 2K RES S pEXE(g)|i &% 5.7
v SR AT 48Kg |%: 14 9Kg |33 62Kg | flI%5(5K) 15 99|z ar 32| 2.8
14 | B Uivihgtacn 9Kalm TR 7 | 1.2Kg | & s 15(H wn(g) | g 5 9.7
p Sk L PN oke | =T 6Kg 21 40# P 8g| 2.6
Py SEEEE 6Kg |35 HE 1Kg 0 B (kA
B A 1Kg 33.7| %
- EER 0.6Kg B (1)
% # Al 0.6Kg 793. 4
657 WEER 6Kg
10 | "2 i %Yk 5 Yy F g vk B K pEXE(g) | &% 5.7
v | T g T(CAS) 51Kg | gk 18Kg | B L34 H(CAS) 60Kg | T ZE (R ) 41 99.5|ear 2.6
15 | &% [T 15Kg |52 4 15Kg [35( 1.2Kg |1 (3K) 2| |mwm(e)|Erm| 2.8
P g 6Kg |4 4t4k 15Kg %efa 7 (600g/) 260 20. 3| "a5p 2.5
-1 P 1.2Kg [RE %% 3Kg B 1Kg v W (k%
2 pN=TE 0.6Kg [4L2EH] 2 4 3Kg 32. 4| g
= ZER 0.6Kg |7 1.2Kg BE(A4)
% 710. 3
657
10 | % VR s W Wiirg L R pEEE(g) |2 a4f
| A e 48K |¥PH -H () 680F [71:5% 62Kg|[HL-287  26Kg 97 5|2 s s
16 EREELEL 12Kg [ E1-EL 61 |7+ = 1.2Kg |HEB T 6Kg NS
p LR 8Kg [H & 1Kg Bk 0.6Kg 20| #y
2 =T 3 B T (kR
4y G (3ka/E) 21 34.9| 4
= A 1.2Kg BE(44)
%K A (ko/HE) 16E 727.6
657 PR Z 0.2Kg
10 | 22 N ik F A% R PR 4R ma(g)|L e 5.5
g fg BTG fa -5 126216 |- 208 26Kg| ARtk 62Kg |-l 12Kg 95. 5zar 3| 2.8
17 SERHILE -5 it 6015 | A 4% 12Kg |55 1.2Kg | sz 6Kg v () |3 T 9 6
p SRDH8L)(fE)  2fF |45 12Kg SHIE% (600g) 241 22. 4| 7y 8 2.8
E:3 E R L& |4IZFEE 3Kg v B(4ok %A
#y Fe 1.2Kg 33.2| g
x FHHE 1Kg | R 8Kg BE(24)
% ¥ FBELK 6t 716.4
655 HE-FE 687
10| @ g FE YR RE Eyet iz pEap(g)|i a5 5.7
v | T 48Kg | 2 -5 Off |REs: 62Kg | HEFRI 257 26Kg 09|z ik 3 2.6
18 N FEEREK 12K (4K (eEa) 0 |RE 2Kg |FEET 6Kg AT 2.7
A HEEN 10Kg | E1-El Off | FR1= 1.2Kg | B4 0.6Kg 20. 3|4 #p %8 2.5
) RIEA-EEE  2f v B ({ok % a4
Hp EHR 0.6Kg 32.3|
El - 0.6Kg BE ()
* B 707.9
657
PRI TH

£ 1 04-8613339 @ E : 04-8613336
Sl B S :

+
P
bl




